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I. Please select the best answer for each of the following questions. (- #12 4> L4840 1 5 > & % 454
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1. Which of the following is met an element of menufacturing overhead? (A)Plant manager’s salary

(B)Maintenance worker’s wages (C)Sales manager’s salary (2)Factory repairman’s wages.

2. In a job order cost system, the use of direct materials previously purchased usually is recorded as an increase
in: (A)manufacturing overhead control (B)manufacturing overhead applied {(Cywork in process inventory (D)
finished goods inventory.

3. An error was made in computing the percentage of completion of the current year’s ending work in process
inventory, resulting in assigning a higher percentage of completion to each component of the inventory than
actually was the case. The effect of this error on (1)computation of equivalent units in total, and (2jcosts
assigned to cost of goods completed for the period is: (A)(1)overstate, (2)overstate (B)(1)overstate,
(2)understate (C)(1)understate, (2)overstate (D)(1)understate, (2)understate.

4. Tn manufacturing its products for the month of March 2005, Max Co. incurred normal spoilage of $52,000 and
abniormal spoilage of $23,000. How much spoilage cost should Max Co. charge as a period cost for the month
of March 2005? (A)$75,000 (B)$52,000 (C)$23,000 (D)$0.

5. When using the relative sales value at split-off method to allocate joint costs, the costs beyond sphit-off: (A)do
not affect the allocation of the joint costs (B)are allocated in the same manner as the joint costs (Care
deducted from the sales value at point of sale (D)are deducted from the relative sales value at split-off.

6. All of the following are generally direct departmental overhead costs excep?: (Ajdepreciation and insurance on
the factory building (B)equipment depreciation (C)indirect fabor and overtime (D)labor fringe benefits.

7. In an income statement prepared as an internal report using the variable (direct) costing method, fixed selling
and administrative expenses would: (A)be used in the computation of the contr ibution margin (B)be used in
the computation of operating income but not in the computation of the contribution margin (C)be treated the
same as variable selling and administrative expenses (D)not be used.

8. When a flexible budget is used, an decrease in production levels within a relevant range would: {A)chanige
total fixed costs (B)not change total variable costs (C)not change fixed costs per unit (D)not change variable
costs per unit

9. A project should be accepted if its internal rate of retum exceeds: (Ajthe interest rate of an one-year certified
deposit (B)the management’s required rate of return (Cjthe rate the company pays on borrowed funds (D)zero.

10. A management decision may be beneficial for a given profit center, but not for the entire company. From the
perspective of the overall company, this decision would lead te action re ferred to as: (A)fraudulence (B)goal

congruence (C)maximization (D)sub-optimization.

L. DYU Corp. has a budgeted normal monthly capacity of 20,000 labor hours, with a standard production of
10,000 units at this capacity. Standard costs are:
Direct materials — 3 yards at $1.5 per yard
Direct labor —2 hours at $15 per hour
Manufacturing overhead at normal capacity - fixed $20,000; variable §5 per labor hour
During January, actual manufacturing overhead totaled $112,000, and 19,500 actual labor hours cost $282,750.
During the month 9,500 units were produced using 29,200 yards of material at a cost of $1.30 per yard.
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Required: Compute the following variances and must indicate whether they are favorable or unfavorable.
(1) Material price usage and quantity variances. (6%)
(2) Labor rate and efficiency variances. (6%)

(3) Manufacturing overhead idle capacity, fixed efficiency, variable efficiency, and spending variances. (12%)

1I1. Yao Ming owns a shoe store that sells five different styles of basketball shoes with identical unit costs and
selling prices. The store has three sales associates who receive a fixed salary and
per pair of shoes. For its year 2005 budget, Yao estimates the following;

& sales cornmission of $100

Selling price (per pair) $ 2,000
Cost of shoes (per pair) 1,100
Sales commissions (per pair) 100

Fixed cost: salaries $420,000; rent $300,000; advertising $260,000; others $220,000

Required: Using contribution margin method to answer the following independent questions.

(1) What is the annual breakeven point in pairs sold and in revenues? (4%)

(2) How many pairs of shoes that must be sold to produce a $300,000 operating income? {4%)

(3) In order to motivate sales associates, Yao plans to discontinuc fixed salarics and increase sales
commissions to be §300 for each pair of shoes sold. Given this new policy, what would be the annual
breakeven point in pairs of shoes sold? Is this change appropriate? Why? (6%)

(4) Refer to the original data. If Yao determines to keep the original compensation policy bui will pay
sales associates $50 more for each pair of shoes sold in excess of the breakeven point, what would be
the store’s operating income if 2,000 units were sold this year? (6%)
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V. 3 ZRETHLEEHL - (15%)

(1) “F#r3 o+ (Balanced Scorecard)
(2) )4k A% (Backflush Costing)
(3) ###1%# (Transfer Price)





